S

BY COUNTING UP

52 - 38
+10
+2 +2
VY v
38 40 50 52

Answer = 14

A

Find the difference by
counting up.

PARTITIONING

‘A2 MENTALSTRATEGIES (+/=)

I can add or find a difference by counting or by partitioning.

Examples
FINDING A DIFFERENCE  USING

FINDING A DIFFERENCE CHECKING

BY PARTITIONING

WITH INVERSE

TO ADD OPERATION
59 + 26 73 — 28 73 — 28 =45
+20 -20 A
Sz +6 -8 +8
i /\@ﬁ :f\\.ff/\ / X
59 79 85 45 53 73 45 65 73

Answer = 85

©2:-17 @ 44-37
©3 21 @217
© 41635 © 37-24
©32-26 @ 42-35
© 25-14 @ 5349

Copy and complete.

@38+27-38+20+7

Find the difference by
counting up.

Use the inverse operation

to check the answers.

€ 58 + 37 =93

Answer = 45

Answer is correct

C

Copy and complete.
@ocs-—29-] ]
© 114—-28=[]
@587 J=49
O | ]-57
O |-47-55
O |-38-7

@ 3+67-[ |
©s84+29-[ |
© 79+ ]=126
@3+ ]=119
@[ |+35=-2

@[ |+96=122

®124-38-]]
@®139-42-]]
B112-[ |=36
@154 |=98
@ |-47=9
@[ |-34=87



